MAT 121-G81-G82 . Test 2 - Fall, 2014 Name e >/
100 Points Covers Chapter 2 NO GRAPHING CALCULATORS!!
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‘a. (5 pts) Determine the slope and y- S ‘
intercept of f. ‘
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2. Suppose v varies jointly as x and the square of z and inversely as the cube of w.
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a. (5 pts) Write an equation representing the relationship. 285k _1L% o = =
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b. (5 pts) Supposey =24 whenx=2,z=9 and w= 4. What, then,isy whenx=2,z=3 and w = 47
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3. (5 pts each) Compute the discriminant for each of the following quadratic and tell me the nature of
solutions, specifically, how many distinct solutions there are and whether they’re real or non-real. Do not

solve the equations. g%
a 3x*~12x+9=0 b. ~5x% —110x ~66F=0
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4, Sol?e by any method, but show all work!!!
a. {10 pts) S4x* —8x—105=0
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5. (5pts) Solve x* +6x +11=0 by completing the square.

WHHew = - =257 po s
1 T T iz

ki ’lHoﬁ é-%rg’ﬂ —if -G

6. Complete the square and re-write each of the following in the form f (x)=alx - h)2 +k.
a. (5pts) flx)=x"+6x+11 b. (Spts) flx)=3x"~5x~10
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7. a. {10 pts) Sketch the graph of f(x)=—3(x - 5)2 + 7. Iwant to see it step-by-step, using technmiques I gave
you. Your first graph of the basic function should include the points {~1,1),{0,0),and (1,1). - Track where
those points end up at each stage (each graph), as demonstrated m videos.
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8. (5 pts) Based on your work on the previous, state the domain and range of f(x).
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9. (Sptg) State intervals of increase and decrease for f(x). Yoo [ \i g %’ -
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10. (5 pts) Find the x- and y-intercepts for f(x). Indicate and Iabei these points on the graph, above.

Qo4 e 1 & gmgswk mw@}ﬁm p imgv:%“ﬁﬁ ni @ijvm:zéfﬁﬁ '%”@:gwa , T imp wot %gfﬂﬂiﬁ/
Tt (o aﬁi«’ eavd B



MAT 121-G81-G82 Test 2 — Falt, 2014 Page 4

11, (10 pts) Solve the inequality x* + Hx-9< ~xt+ 5.3\ 4. Give your final answer in set notation and
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. Bonus (5 pts) Solve x* —S5x+4>3—x. Give an exact final answer (51mp11ﬁed radical form),
i set notation and interval notation.
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12. Solve The absolute value inequalitics. Give your answers in set-builder and interval notation.

a. (5pts) l4x+7[21 b. (5 pts) [4x—7i<1
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